cle of radius 98 ¢m,

K;‘e'; was “Tiger Project’ started in India? 8 Awieic: Fu cir
©) 1 ,T arch, 1972 (B) 1 March, 1973 As te ey rﬂg = ' the wire. What is the
April, 1973 (D) 1 April. 1972 quare is formed 01 O "¢ the square?

A ¥ A uideEr #E gy £ T 67 approximate length of a s10€
(A) 1w, 1972 (B) | wrd, 1973 A 156 e i
(CYA 9w, 1973 (D) 1 b, 19 (€) 152 em ©) it
(D) 1 =, 1972 Wm%ﬁw#qﬁa;mﬁhmaﬂﬁ
oo A e

2 Name the river flowing through Bikaner district - oF af g b @

(A) None of the river (B) Kantli k7
(C) Mantha (D) Ghagghar (A) 156 & (B) 148 &
diwrre P @ waifed ¥ aw @ @1 T ¢ - (©) 152 2 (). 454 &0

of medicine are

(XY & i (B) &

(C) wer " (D) "=y 9 Which one of the following 1Ypes

used for treating indigestion?
(A) Antiseptic (B} Antibiolic
(D) Antacid

3 -Kwashiorkor is usually observed among children

in the age range of - (C) Analgesic

{A) 610 years (B) <1 year fmﬁ,}éﬁ-ﬁmﬁrmﬁm%mﬁﬁm

[qg_:% ]‘ v i .\'E;:Il.;;ﬂ‘n {D) 4-6 years ' ¥ ?-

m.;a‘rjmTa ot aedl W 3w ang dw A Aw (A) sz (B) wferdre

(A) 61047 -{.B')/-; 1 af (C) drrerdy (D) S

(C) 1—-4=d (D) 4-6i I. - whi
Agni dance is performed by the men folk of which

In which fort is the Sheela Devi Temple located? | sect ol Rajasthan?

4
(A) Kumbhagarh {(B) Amer (A) Bishnpi Sect
{(C) Achalgarh (D) Mehrangarh (B) Dadupanth
Rrem 21 @1 aiet e ﬁ:‘;‘}ﬂ"ﬁﬂﬁ 7 ‘ (C) Jasnathi Siddha Sect
(A) FHmTe (BY 3mit (D) Ramsnchi Sect
(C) oraeTe (D) #FTTE ’ T e gwAra & wl geul &TO S 3 e
, A k7
&  Value of V16129-is - (A) Fagfid dwa (Y aguyg
J16129 & "M # - (C) =wne o wwam (D) ToeE Jyar
(A 127 (B) 117 .
(Cy 133 (D) 123 /irtual and enlarged image of an object can be
\'@/zhmincd by :
6  Which language (dialect) is spoken in Bundi and (A) Concave lens (B) Convex mirror
Kota area? (C) Concave mirror (D) Plane mi
ve - . mirror
{A) Bry {(B) DBagn B
(C) Mewati (D) Hadauti Pt :ﬂ a1 g 3 fafit afifas gra fear =
74 vg @2 &9 A A a2 ::’_;"/' .
(A) 7 (B) armé AT Naaw #8 B (B) T4 adw g
(C) B, (D) e (C) 3aaa a9 arw (D) Huwe =t grg
= Which of the following fungus is used in hnkin@\’ishwns Swaroopam’ (Statue of Belief) is statue
industry? ‘ of > .
(B) Black mold (A) Lord Shiva  (B) Lord Ram

(A) Morels
(€) Yeast (D) Mushroom (C) Lord Krishna (D) Lord Vishnu

AfEn TEM ¥ B A% & R o wrar &7 v _

(A) H® (B) &% T fasarE ==y # wfr ¥

y!ﬁe (D) wAsEH {-’\ff‘FT'dFl fira (B) WraiH T
(C) wmar o (D) mmﬂﬁzm]

IVVP ] o [ Contd...
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33

34

!
Who among the following Folk-Gods is also related
lo snakes?

(A) Gogaji (By Ramdevji

(C) Pabuji (D) Mallinathji
Frefafas @ & 3w datam wid 8 W HeEfig &7
(A) Tirshy (B) T

(Q urgH (D) HeAEh

Three numbers are in the ratio of 2:3:{*{1:11] their
0 T - N
average 1s 39, then the smallest numb@-il.v. -

A 2:3:4 % orgwa ¥ @ e hwa 30 8,
GUGEER R S Pa Al
(A) 52 ® 3
(€3 26 o) 39" =

@ In 11":"-,',“'-‘. one of the following civilizations bricks

were not used in making houses and cplonies?
{A)Y Ganeshwar {BB) Nuh

(C) Kalibangan (D) Pilibanga
hnﬁrmaﬁafmﬁmﬁ-mqaﬁmm
o 2w owam A Ear o ?

(A) TisET (B) ¢ i
(C) wwiram (1) drsfram "_!
™

Wiﬁ the famous “Baadla”™ uJ‘Jndh&u‘r_’

’ (A) Pomcha

(B) Wood Temple Oy
(C) Water container made of zinc o)
(D) Zari Saree L

g @ Wi CaEen’’ A oA " oFn i

(AT T ~

(B) @€l @ afax o

(C) o= & = I & J

(D) =1l =& . O
N

Who is the first woman Director Géneral of
National Council of Applied Economit/Research

of India?
(A) Shobhana Bhartia —|

(B) Poonam Gupta .

{C) Renu Sud karnad

(D) Shyamala Gopinath

TR & 9T Brafhd HTH wege Ay fad 2

g

f

qEET it WEIRR e a § 7 Y

(A) ¥y el G_‘:

(B) g T il_
T gz FAE

(€) 7T = -

r—

(D) sarger MdE™

Ve gk

38

Gp

41

42

" . 3 2

Il‘h-'—ll s a factor of x” +kv® =2x =24, then
the value of kis=

‘.-r 'I': “ k.f: —:_'I,"—:'l' m‘l TT}; m {r _ :] i' H\I

k1 A B -
(r'\-l -5 {HJ 2

() -2 P 3

Trench Commission was formed in the context of
which peasant movement?

{A) Bundi Movement

(B) Bepu Movement £l

(C) Bijolia Movement o M

(17} Alwar Movemenl

fm faum an=lam & w39 § 29 amam & Ted e
T v =

(A) g% an=tes

(B) &7 #r=1eA

(C) [ysiiam ap=re

(D) FEt =T

Ornaments of ‘Tarkashi® are famous of which
place?

(A) Udaipur (13) Nathdwara

(C) Chittorgarh (1)) Barmer

AFS & AT (A7) TEE owm F wiks ¥ 7

(A) F3aq1 (B) Ammm
(C) Ferefreme (D) =mewy

Who was appointed as the Rajpramukh of Greater
Rajasthan?

(A} Maharawal Laxman Singh

(B) Maharaja Sawai Man Singh

(C) Maharaja Bhupal Singh )

(DY Maharawal Chandra Singh

T TR W AWy e Frgaa fean a7
(A) weTrEw weauifiee,

B e ward grae

(C) smnr spamfien

(D) worerers i

Rinky sells a tahle of costing price ¥ 840 10 Sonu
:{'l‘i:itrm & prolic of 107 and Sonu sells it o
final ‘-.\‘ ifl |H'i"il ol 5%, then what would be the
- "“'_“J"H price of the table?! _
.qj_" 840 Pt i) el dae w100 & AT H G|
?ﬂl ?q:ﬂ b i e 28 T w3 #t wifa ur g
YAy
{A) 2 924
(Cy 3 798

49 Forma e @ fm?
BT T 877.80
(D) T 837.80

| Contd...



51 Go through the following poem and answer the |€3) Which on¢

IVVP | ob

question given below :
O Rose thou art sick,
The invisible worm,
That flies in the night
in the howling storm :
Has found out thy bed
Of crimson joy;
And his dark secret love
Does thy life destroy.

According to the poet, the main idea of the poem
is .

(A) The beauty of the Rose is immortal.
(B) The poet praises the seeret Ibte of the worm.
(C) Wicked people win the hanle.

() Innocent are helpless, they suffer and give up
their life.

The diameter of a sphere is 0.7 ¢cm. From a water
tank, 3000 spheres completely filled with water is
thrown out. The volume of the water thrown out

is (where, =%‘3-)
(A) 430 em? 77539 em?
(C) 530 ¢m? (D) 439 em’

UF T AT 0.7 W R | UF a2 8 3000
A ol ®9 § TTHT WA qET B A &, A A

ot 7 W a7 o 3 (Wa=2) ()

(B) 539 = |4
(D) 439 o #h

(A) 430 a3 &0
(C) 530 =7 &4

Which of the following is the first coal based
electricily generating power plant of Rajasthan?

(A) Suratgarh Thermal Power Plant
(B) Kota Super Thermal Power Plant
(C)y Chhabra Thermal Power Plant
(D) Kalisindh Thermal Power Plant
fre § @ FAE AT & e FrEel S g |
TarEd qUA B 7

(A) qrams anig el qaE
(B) ®rz gat Ay &= O
(C) wa21 anfra & §ad

th

(2

(D) e qiE S da |

. not view option 'in PowerPoint?
1

(A) Slide shn!fv view
(B) Qutline w_ew
(C) Normal view
‘e sorter View )
(A) w9
(B) SmIzEnET '“'1
(C) ma =
(D) wEE WL H

Second highest peak of Aravali is —
(A) Taragarh (B) Gurushikhar
(Cy Sergarh (D) Achalgarh
s &) gEd waa S A -

(A) @TOE (B) TEtirat
JC) ®UTE (D) 3rawTs

é? What is rank of India in 'Climate Change

Performance Index (CCPI) 2023™

(A) gth (B] ﬁ'h

(C) ™ (D) 8t

ey wfradd wasf gEw® (CCPI) 2023° ¥ Wit
WY AT E?

(A) T (B) wé

(C) wrad (D) amadt

¥ oy g ARGT W A ¥ wAm b s
(A} veTEESE (Bﬂ"ﬁsmms;]
(C) |&-uqas (D) Foraras

Who is the current chairperson of the National
Commission for Women? (As on 18" December
2022)

{A) Mrs. Rekha Sharma

(B) Mamta Sharma

(C) Lalitha Kumaramangalam

(D) Dr. Girija Vyas

Ty wfen sram # adam onas @ ¥ 7 (18 Pasag
2022 % aryam)

(A) dmdt T gmt

(B) wyen gk

Hemang Jaiswal of Rajasthan is player of i
(A) Weight Lifting (B) Kabaddi

(C) Judo (D) Boxing

U & B9 ATTEETA % faard ¥
(A) wriemm (B) waf

(C) ==t (D) s

| Conud...



product of Rajasthan at constant (2011-12) prices
during 2021-22 as per Economic Review 2021-
779

A FHter 2021-22 & oA 2021-22 § TAEN
F T (2011-12) i w1 g T GG IAT H

gfa & 5v = o 7
(A) 11.04 (By -5.2
(C) 3.2 (D) 6.04

For a light ray travelling from denser to a rarer

H . e ' " L
medium, if angle of incidence is equal to the critical | 89

angle, then the angle of refraction is ;

WA A T unay § e 9 g oo
fobo & ford w14 o @, wifas Fo1 & et
%, 73 A B b

(A) 1807107 (B) 0°

(C) 45° (D) 9v°

90
Which of the following is not correctly matched?
(A) Right to Constitutional Remedies : Article 32
(B) Protection of Discrimination : Article 13
(C) Right to Association @ Article 19

(12) Right to Protection of Life @ Article 20
FETiEs 5 ¥ & -\ @ guiea a6 R 7

(A) wautre 3vard & wfus @ areds 32

(B) ¥=9E ® &l e 1S

(C) wa & Fmi &1 s @ e 19 |
(D) wirE= @1 T8 = afrEE o agEkT 20

Curing whose reign did the Kishangarh styvle
receive an independent form?

{A) Raja Samant Singh

(I3) Raja Kishan Singh

{(C) Ruju Jagmal 92
(D) Raja Roop Singh
fads omEe @ o e Sl @ @ mey are |
g e

(A) T wmdftiz
(B) AT fpsmite
(C) T ST
(D) = waitE

What is the smallest and largest font size available
in font size' toolbar on formanting toolbar?

tA) 8 and 72 (B) 6 and 68

(C) 8§ and 68 (D) 6 and 72

wAfET TEAT A IeE wiw e TAATT § TqwE
AT ST AT B o b

(A) 837 72 (B) 6 37 g8

(C) 8 3t 68 (D) 6 afg 72

IVVP |
9P o

o

@ What was the growth rate of gross staje domestic (@ Air Marshall Shaikh Abdul Hannan was chief guest

at Graduation Parade of Flight Cadets. He is from-
(A) Iran (B) Afghanistan

(C) DBangladesh (D) Malaysia

Tt Myt g erEE F FEE $EH & THUE
T § qem sfafy 4@ § -

(A) Zum @ (B) srEmiaEE 8
(C) AfemsT & (D) maferan &

The next term of the given series is -
B LI I L e -
C. E, H'. Q, ?

(A) X (B) U
(€) v ) W

Which of the following formula in Excel is correct
to find sum of cell Al, A2, A3 and A4?
Prefiiaa & @ FAe v SwmE Al A2, A3 8T
A4 T & g oA % (e w5 R

(A} = sum (Al — Ad)
(B) = sum (Al to Ad)
{C) = sum (Al: Ad)

() = sum (Al : Ad)

'."
qd 1 f&it =t o afuwrh = 99 o g3 W wEE
M T AT W-9A WA AT 2, 30 FEd E —

(A) Iem= (B) sfom=s
(C) Famf (D) fafar

Which of the following blood groups is a
“Universal Donor’?

Frefafaa @ @ e wqe o wdaEr & 7
v O (By A

(C) B (D) AB

\‘-'Im-t is the optimum temperature and catalvst
required for Haber's process? )
(A) 300 C. Silver  (B) 450 C, Iron

(C) 45'C, Tin (D) 150 C. Copper
ﬁhﬂ:;ﬁmﬁmﬁwm{rﬁmﬁ foban wrehr

(A) 300°C, fa=
(C) 45°C. fm

(B) 450°C, amars
(D) 150°C, #q7

[ Contd...



48  Which lake does not exist in Nagaur district?

(@3 Which of fullowing districts of Rajzlﬁ’thﬂn is not
included in the first phase of Rajaschan Urban . —
Infrastructure Development Project? (A) Raiwasa (B) r:'“d“““ﬂ
(A) Bikaner (B) Kota (C) Degana (D) Kuchaman
(C) Udaipur (D) Alwar amir Fra # A e faa A X4
nmuﬁmﬁqﬁ’ﬁ&mﬁféaﬂmﬁwﬁq (W (B) ErEar
SOy g gty % we G § gftafera 7éf .
e % 7 (C) = (D) FEE
(A) draTT (B) =i o
(C) gy (D) e f@ State Human Rights Commission submits Its annual
report 1o :

(A) Advocate General of State

! Triplet code. for inhibiting process of translation
(B) National Human Rights Commission

is: Ll

arpaE wiEm v a3 an e 3§ s

(A) UGGowio, (B) AUG (C) High Court

(C) UAA™ (D) UAC (D) State Government -
@ At the 681 National Film Awards on September FA R

30. 2022 who was conferred with the Dada Saheb

Phalke Award? (A) TS wEIfaa B

(A) Asha Bhosle (B) Tgig Arg e &

(B) Waheeda Rehman (C) wea i

(C) Asha Parekh

(D) Lata Mangeshkar (D) T HHR # I~

30 frmr, 2022 #1 68 ¥ T e g ¥ T

wEa e qrenrt @ getfaa fevar T ? @‘ [n the system of equations 0rs

(A) ¥1am HiEm '

(B) @ér=1 A hx+my+m=0 Lafly

(C) @mgn ari@ lyx+nmyy+n,=0

([}J Lol T ST

. .-'l mo .

@ Ebony trees are found in forests. i :zﬁ:#z‘ then lines represented by

(A) Mediterranean SiEEEES T

(B) Tropical Evergreen SISO RN ="

(C) Monsoon Deciduous (A) Intersecting (B) Parallel

(D) Conical Evergreen (C) Coincident (D) Perpendicular

r,ra’r-nqar___-__wriﬁmﬁil i S S—

(A) YyIwETIig

(B) FwrEfrgdry S3Ee fl_\' +my+n = 1}

(C) uoiurl A lx+my+m =0

(D) stgardt FaTFEI ) B
@ Choose the' words which are nearly opposite i ¥ uf f_l=',£!"‘i a wefiary

meaning 1o the underlined words : ¥ Gppontte 'f! Wy My AT i o

Opayue ¥ -

(A) Transparent (B) Cloudy (Ay-Taass

) ey * (B:' HHI=IT

: (D) Blurred .
(C) w4 (D) =gy

IVVP |
als ) |
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6

(A) Maharaja Jaswant Singh 11
(I Maharaja Sardar Ningh
(C)y Maharaga Hanuwant Singh

The Jaswant Thada of Judhpur was built by . @
|
|
I

(1) Maharaja Ummed Singh
MUY T THGT gy w7 feiy
(A) Wermm ARTaiyy iy
(BY mrrm st
(C) TRITAT B{a=AiHE
(1) wemmn Terefie

The highest peak in the Lastern Ghat is
tAY Gurushikhar (By Anamudi
(L) Dodabeta (1 Mahendragin
) =z § waten finar b -

(M) 1!7-{”’11 [ﬂl ,3r.“1i—§-'T
(C) ==Em (D) wE=2infr

A
|

| 78

|
|

|

i|
l

73 Cheose from the options given below one word |

74 Freifafta § & Faw aves i s fea w v P | 60)

for -

someone who walks in sleep

(A) (1Y) Philogynist
(1) (M Reclose

lermagam
Somnambulis

TR

AY TR TIHMT R /1
(B) 3= smy = 7
(C) - e o o b

(1)) ®iF 2F @ TR R o

- Jaipur is ¢
(A) Ahrar Ahmed (B) Rajesh Giodha

(Cy Anuradha Jangid (D} Naronam Jangid
w7
(A} AT HEAE
(C) I =TE

AT A oA T # A R
(R) Trae Mm
(1) 7T s

Where is Maharaja Shree Ummaid Mills located
in Rajasthan ?

(A} Jaisalmer (B) Jodhpur

(C) Pali (1Y Jaipur .
serrr At wui fomg armed 8w flgg & 7
(A) FEeET () ey
(C) e (1M =gt

IVVP | ap

|
[
l
|
The name ol artisan associated with blue pottery |
1

ITq

81

|
i
|

Shree, Kalral Mishra is governor of
| i

Rajasthan.

m'{ 4™ (B) 30"

(C) J'JI:h {I.” J1 -

iy werrra fag, AR B f—ﬂ T E
[JI.I,‘-' _-'4 {B} ,‘.'q

(€} 40 () 41

Cupiplete the sentence by chc.‘csing the correct
F;_mpns.itinn from the choices given below -
What's the time _ vour watch?

(A by (BY in

€) at (D) on'titk

un.j 301 October, 2022 a petldstrian suspension
bridge collapsed in the ciry of Muorhi in Gujarat,
iswas built on which river?

i__'j'n. kJars (B) Rupen

(3, Machchhu (D) Sabarmat

30wz, 2012 W) [ACA F A IR F OF EEG
HERYA A BB TN, TE R S w AR T e
(A @l (B) =9

e g (D) wraTsH

{TMay exposition of Haly Kapilvastu Relics of
Cotd Buddha was oreanised by Government of
[idia in -

{A) Sri lanka (B) Malaysia

(S Thailand ADy Mongolia

W 97 F Wigd gigeas] wEa & || Freeig
W) &1 WATAT WA WY B fEmoma
(A) dd4T o (B) weism o

EL;] S o (D) wmisen 9

(&)}

dPe high grade coal is -

Ift; Peat (By Anthracite
(G) Bituminous (D) Lignite
I AW A1 g -

(A} Bz (13) framargz
(C) fezirem (D) fermrge
™

i .
B-q'-'hll:h vear Desert Development Mrogrom was
aunched?

1
FEsty fawm wvdem Pes ok & aeg foar a7
{{l;ﬁ 98485 (B) 1977.78
(C) 1980-81 (D) 2001-02

—
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Natjonal Games were organised in @ In the CD-R type of CD. data can be

Ahmedabad. (A) Only written once
(A) 37 (B) 34 (B) Only read once
(€) 35t (D) 36% (C) Written once. read many times
SN | e we & A e T (D) Writien many times, read once
(A) 374 (B) 344 l;‘I:t-P. PETL a‘?T CD mj;:n F1 - [
(C) 359 (D) 363 (A) f\‘?’-'ﬁ g HTT [AE 1 OHEA E
(B) fink e AT wa W AEE 2
TR . C}&rﬁﬂnwmfmnﬁmfwmmmt
61  When the ligyid is spun rapidly, the denser particles ( ' ‘
. y b - &3 A7 [ 0 wEAT R
remain (o @Jh{ﬂhuﬂ and the lighter particles stay (D) fik o AT 3, T |
at the top'~This principle is used in - o -
(A) [-‘i|lp“"'“ principle 15 used f@ Rays moving parallel to the prmmpn! avis of a
ratxn - L . .
- convex lens after refraction passcs through :
(B): Cent:ibgation (A) Centre of curvafure
™ 3 b r--l-d' . gs : & H
(C) liruc.u-::-ul.l.l distillation {B) Principal tocus
(D) Evaporation (C) Undeviated

7 ez af @ e T R, A e @ Ad (D) Optical centre _
A1 Tk & FUT TRA £\ 3 fgaia &1 sy W-ﬂm%mrﬁmqaﬁarﬁfﬁﬁfméﬁﬁ

e - aada F usar Al F o
(A) Prarsr 3 (A) Fam H= A
(B) e (B) q= WEH H
@ siferd g (C) arirafi
(D) mu:r‘aﬁﬂrT 3 (D) wanfirs &= 4
" @ The Malpura-Karauli Plain is the part of
N e ! -Karauli Plain is art of -
62 = gl W = B A A - {A) H:ml.;ﬁ I3asin (B) lLuni l?asin
(A C‘-Ff‘v-ﬁ[l’r[d (- arreatd (C) Chambal Basin (D) Mahi Basin
(C) e, () &= AT e W d

(A) T Ffmm | (B) o Al &

63 Which of tlre following bluod groups is universal (Cy =&d 9t & (D) urédl afga &

recipient?
frfarflan §_§ #1799 O ardvifs T 27 |69 The purpose of run command in start menu is to-

W AB' - (By O (A) Open System Lock
(€) O (D) AB- 1 (B) Launch Internet Browser

(CYy Start Programs

@ Which uf\'.t'hl: following climale regions in “JE hcur}._*h M'"_
Ril_iaslllanq-}ei\ es lowest annual rainfall? wr i ¥ T At w w b -

(A) ftrem @1 wisen

T  fffeE Aeary w2ell 4 @ @ g w0
arftt ot by @ 37 (B) #ziz gryat usrn @
(A) Aw T (B) DBShw HEy A w
(C) ng‘_j (D) BWhw (D) wiga Gam *
| |

70 Which day is celebrated as *Natwonal Uity Day’
(Rashtriva EXta Diwasy in India? ‘
(A) 8" October (3 153 Lanuan
(Cy 4" December (D) 3™ October
fipar Pt a1 s o ardv v fram & sy 8 g

65 Choose an appropriate translation for the sentence
given :
She mvc‘ﬁﬂmw}' for a rainy day.
A W;ﬂ‘?ﬂfﬁ 1 fier 4w EWT'-';l
(B) T Fftar & fm 8 aam

(C) w7 i & 4% qum w k7 _
(D) T8 48 @ W F aran (p)-8 s () 15 afy oy
| (C) 4 Pt ® (D) 31 sFezar @

IVVP -:”: 5
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94 1f 5" January 2020 was Sunday, then what will be |99 When'an error of 1% is made in the length of a

:h:] d:: :jm ::;,th January 20227 square. then appmximﬁt; percentage error in the
/ cdnesday are Wi -

afz 5 AN 2020 Fr Waare @, @ 24w 2022 & el &) T WgT e 7

H FAE B By |

(A) gamt (B) Tham (A) 4% (B), -5

!’Q’i BT (1) wrear ©) 1% - ((D) 204

95 Jaundice is a condition in which accumulation of 100 RW EF ¥ wh fas o= 3 Fn §7

__occurs in bload.
(A) albumin (B) globulin . (A) = - ®arl (B) formr - &y

(C) hemoglobin (D) bilirubin (C) gaq - gawn (D) w@A.- @
e ww R fafy b P - g
Hag w1 A ¥ 101 The median and mean of 15, 17, 16,7, 10, 12, 14,
T : 2 spectively -
(A) urgER (B) e 16, 19, 12 and 16 are respectivel)
(C) ﬁﬁvfﬁhq (D) Podrefa 15,17, 16, 7. 10, 12, 14, 16, 19. 12 @ 16 £
i qftas v wng wAg k-
% Frefafaa & & faw faem 4 ot = afaams (A) 15,16 (B) 16, 18
el B 7 i (C) 16, 14 LDY"[S, 14
(A) 7, diema, 4, A _
(B) T, v, ar, v 102 Fr=fafas & & #imar s geages &7
(C¥ wraady, e, uisd <@, why (A) Frams (B}
(C) arF=ram (D) %=

(D) W=, g9, oy, T

@D Prabha Atre (Padma Vibhushan Awardee 2022) js | 103 T’ /= & fom wét ol o w0 $rm ?

related to which field? {A) Disorder (R) Discrepancy
{A) Indian Classical Music {C) Discretion (D) Dismiss
(B) Sports

(C) Space Technology @ Find the odd one out :

(I3) Social Work (A) C+

vt o (vu faqeer green fasan 2022) faw g3 @ (B) ORACLE

A §7 ' (C) MYSQL

(A) Wiidra seid |3 (D) MS ACCESS

(B) @w Form =f

(C) sfafre wrdifmEt (A) T+ (C+4)

(D) w9 F@ (B) 3twm (ORACLE)

(C) ™ ar ug MYSOL
@ Name the Pratihar ruler who not only checked the (D) g “ﬁ?[ﬁﬂ{ACCSSS}
advance of Arabs but also liberated several rulers ™ . )

from their voke.

(A} Nagabhatt 1I (B) Nagabhatt I 105 If the length of a shadow cast by a pole is B
(C) Deoraj (D) Vatsaraj L times the length of the pole, thén the angle of
TR GTAETT TEE T AH 450 FAEs T Haw o & clevation of the sun is - _
maﬁﬁﬂﬂ?ﬁﬂm“hmamﬂﬁm uﬁtﬁﬂﬁm!ﬁhﬂéqtﬂﬁﬁﬂqléﬁﬁﬁﬂmli
anfmw & o ga W V3 kA qd W we wm

(A) v fdg (B) A wew (A) 90° (BT 30°

I:C} EGLD| I:D]' CRALIE] {C]‘ 45° (D:I 60°

IVVP | ok 2 [ Contd...



23 Which of the following statements is not true

regarding: Rajasthan State Human Rights |

Commission?

(A) The chairperson and other members arc
appointed by Governor.

(B) It is a multi member body consisting of a
chairperson and two other members.

{C) The chairperson should be a retired justice of
Supreme Court. |

(D) Other members of State Human Rights
Commission can be a serving or retired judge

or magistrate of High Court or District Court. | 28

Fretfafad o @ 2 m sua Tmas e e |

g & AT 0 i A R

(A) s 9 =y wrel @ Pl g ama @
AT 2

(B) g% v 7% weey e & Pred seae g 2 e
I Ed B

(C) ey Tedaw ETEd & Haiagd =g
Erar R

(D) =1 weeg Jea Argrerg oeEr Faem AamEey &
STATHNST MEaAT Hiwe f avar 1w

Which of the following string instrument is alse
known as “*Bheni™?

(A} Pungi {B) Bankiya

{C) Bhungal {13} Mashak

Mefifaa 5 & fem am aa & W W FEm A b
(A) (13) =@ifFEm

(Cy - (D) T3rg

Which fort is sitwated on the confluence of
Ciambhin and Berach rivers?

{A) Ramhambhore For

(13) Kumbhalgarh Fort

{C) Tadgarh Fort

(I Chitorgarh Fon

it A wEE At F T 97w P R )
(A) ToEmiT fren S
(B) Fwama [en

(C) zr=ms fasn

(D) fadrsme PEar

L.+~ M means L is the brother of Al

L= M means L ois the son of M.

L=M means I is the wife of M.

II. = M omeans L is the father of M,

e drol ing me i
;Fq: Im.h_nll the Tollowing means R iy the mother
L= Mg 1M = wid 3
=M od LM @ gy &
L=Man ot 1, M #1 gsft 34
LM araed LM a g 3

@ Frefifad 4 8 frm g 3 % R

{f‘i] r': =N Y 'l )

IVVD | #

26

I gy 2
S+
A-S+T

|2T

29

®

31

be drawn into a

- & i hrﬂ ] iS [‘J
ik L“!"E dl” Ill 55 ;

cyvlindrical wire ol 0.5
length of the wire Is -

(A) 448 m (B3) fi‘dm
(C) 112 m ) {D}‘ 22dm
*lmé’zﬁﬁ?ﬁmﬁmn.saﬁr_mﬁ&amm
ﬂ(-h"n. m%.a“:maﬁ'-mﬁir :

) (B) 56 &

' (D) 224 &

(A) 448 3
( :Iizlf'r

th's pond eco system.
(&) Small fishes

(¢y! Zooplankton
g T et a4 °, '@

food chain starts with -
(B) Phytoplankton

(D) Agquatic inﬁcc}sﬂ
sporen wrees g B -

(A) T3 Auedl & (B) AEEID ""
({“v}l Trlj‘ﬂﬁ H {D} s wEH
on

Tha similarity between Li and Mg is due to —
(LAY, Insolubility of their hydroxides

(B), Similar ionic potential

(C), High clectropositive nature

(D) Similarity in the charge of their wons

Fi a7 Mg & 9 goran &1 g & -

A) T FLETTST &) gl

i{nr oM wmEtrE e

) wea Prga wEs wph

(D) 3% o & anas § g

uﬁ} i i

When the post of Lokayukta was established in
Rajasthan? i

RIqTT § AR B 9T T ghA g w?

(A) 1973 (B) 1992
{C‘)J 1922 (D) 1982 =
1\.-‘::"I:r‘iu:h one of the following times i;i_lllnr season of

Areating monsoon?
(A) February 1o mid June
By October to mid December
g{_‘_] December o Februan,
{:!H Mi:! June o September
P & aamy g HITHA Yererd o) e
(A) w7ah 6 gy ' . SEN
(Hy & a7 5 g [y
(G Frrmar o grad
RS 0 g

L}

[,

\ﬂut is the name of the
ahtdined (rom Cinehong
Ay Quinine

i”. Cinchonine
=R # o1 sty
(A) F349

(C) Th=xifam

mbmalarial medicine

(1) Alropine
(I Nicotine

ﬂ BT W Bl "ﬂ]‘ﬂ}r
(B) uzidrg
) Frifaq

[ Conud...



islative Assembly Sumitra Singh was
g B -

13 (.‘hnns_u the correct Hindi translation of the @ In which Levl irst Woman Speaker in the State
following word from the given options : / choosen s ‘.T -
Domicile certificate e of R"-’?sﬁ:jﬂ[h (B) Tenth
(A) =1 ymmm oy . :;: :!:\'erlth (D) Twellth
(B) 7 ymmor w er [T n?ﬂj.ﬂ ETF:tr?f gfeen faur @1
(C) smam wam gg mwmmﬁﬁlfﬁ'ﬂﬂ‘ﬂzﬁ?ﬁfnl
(D) T Pram s (A) Al (B) Tl
< b (C) rarEd (D) ared!
EQ ilshi: slope of the line joining A (3, 7) and B (-2, 1y @/A member of the State Public Service Commission
may be removed by the & 5F | )
g 4(3,7) a8 (-2, 1) & e ash e = (A) President on the basis of impeachment in
¥ g i Parliament.
Tk ) (B) Governor, after the inqu_[irlﬁwcgnduu[cd by
(A) T (B) e High Court.
: 6 (C) President, after the inquiry conducted by the
6 | Supreme Courl. :
© 5 (D) — (D) Governor on the basis of impeachment in the
8 ' Legislative Assembly.
T WE A S & ORI A uE § I 9
15 '_\‘-"Ili-:h of the following converts source program g ¥
Into object program? (A) #Wz & waifdm wEE ¥ qeq Ui & &
(A) Anti Virus (B} ALU (D) T f.'l-T BT Tew AMEHY & A & A=
(C) Control Unit (D) Assembler (€) hi' WA & E wAler ey & W
T & @ T A s ) e w3 (D) Rt st 4 FIGTI S 3 ] Gorer S
PEGG U s . . .
.t @ Which of the following is a non-impact printer?
(A) U1 amm (B) ALU (A) Laser (B) Daisy w
\ ) v wheel
(C) @==zm gz (D). WEAFT (C) Dot matrix (D) Drum

16 Punit gocs West, he tumns left, then left, again lefi

and thén right and finaly goes right. In which

direction he is moving?
(A) West (B) North
(C) South (1)) Last

Qe afyem @1 o aera ¥, F€ gl ot gean b,
afll 3 uw AT A A S F er < & v
a9 # =T AT aaa ¥ 9s R e A o ke
(A) dféag (B) T
ey o (D) qd

Volodymyr Zelenskyy is President of -
(A) Ukraine (B) Russia

(C) Portugal (D) Spain
arefafire Fete T ¥

(A & (B) ®0 &
(C) qdma & (D) &1 &

IVVP | gk

D

T § ®A W UF AT T ¥ 7
Sl (B) =0
(C) =Tz wigwm (D) 2w

El'tthwmd of which tree is used 1o make cricket
LS.,

(A) Mango

_ (B} denti
(€) Willow sl

() Teak

g 2 H FAFET n 2 3 3
Fmr w27 T
(A) amg i

V) 3 (B) =g
(C) famt (D) ¥

22 Where hac . L
b\'h[Ltr[L](l'gh-ﬂ multi-product SEZ Been established
:'j\Rﬂjusll.;::?m“uhumm" wiirl] _Pll‘"iihiﬂl.lrﬂ Group
(C; 'E'P'_UT (B) Neemrana
e %md (D) Jhalawar
¥ ”“:T’{U%aa'g&mﬁﬂwﬁﬂim
w“*‘ﬁ*ﬁ o 47
(©) 2 (B) S
- (13} FrerETs
3

[ Contd...



Twang sector is situated in -
(A) Unrakhand

{B) Arunachal Pradesh

(C) Assum

(D) Sikkim

qam &9 fa &
(A) 3I9UETE 5§
(B) smvmas w2s o
(C) amm %
. N
D
(D) Tofrry g 3
10 . (o)

AB_BC 1G4 3
DE EF =fD 5

then their-areas are in the ratio -

107 Ifin A ABC and A DEF,

—

AB_bC reh _3

A ABC am A DEF @ gfy

_ DE  EF _(r]u I
U RE e BT v o I 5
N
(A) 3:5 (BY9:25 N
(€) 16:25 (D) 5:3 0

T08 ) According 1o the India State of Forest Rc?g‘ 2019,
the state (Not Union Termitory) havihg ' lowest
percentage of forest cover is - T
(A) Uttar Pradesh (H) Punjab
(C) Rajasthan (D) Haryana

LY

fosm w2 e s UE 2010 & T
< (F= g Wiyl AET) Fai a4 &= w1 wfasE ; =JTaH
toan ® - <
(A) TAT gl (B) uwg =
(C) Trenam « (D) #feamm

109 A bag contains ¥ 5. ¥ 2, and T | coins in the ratio

5:6:7. If the total amount is < 220, then @;’nher of
2 coins in the bag is -

o R 5:6:7 % s A ?5.?:_@@* Forei

@ gy Fral gw U T 220 8, F AN T2 %

fererrl 21 HTAT ¥ - | ~

(A) 120 (RBr 730 ‘j

(C)y 35 (D) 60 )

110 Choose the correct Hindi translation ofthe word
given below : U
Registration Or:’

(A) P (B) s L}L]I
[9)"-‘!‘:'(!3:‘{?[ (D) wferey <
=

1VVP -:,’]:-

! — 12

112

113

114

111 Which activity is not related with the Draughy
Prone Areas ]"ru}__',ramm-: in Rajasthan?
(A) Poverty removal ‘
(B) Soil and moisture conservation
(C) Water resources development
(D) Afforestation
TV ¥ T HYT A
" AR R
AT i framm
(B) fidt & =7t & §T&W
(C) aﬁl—}é‘ma'-ﬁ CARGEAL
(D) Famame

In Pmucr{f}ufnl, two Kind of so_ultd eftect files that
can be added to the presentation are -

(A) Jpg and .gif liles

(B) .wav and .mid files

(C) .wav and .gif files

(D) .wav and jpg files
qrETHTEZ W Gl dE & Aes §hE
A wE b - _

(A) .jpg T .gif w2

(B} .wav @ .mid FEe

(C) .wav a gif wigd

(D) .wav T jpg L AEC

L

T THE

rEd THEIE H Sl

Which of the following exhibits non-metallic
properties? !

Prefafd 8 & & ® e o wEfia st &7
(A} Mo (B) Al

(C) Be (D) grey ' Sn

Study the following Pie-chart and answer the
question - i

. = g e w1 siamme @ B

[t A

J9 F T -

A

A = Paper (@)

B = Advertisement (frsrm)
A T = Binding (gm=f=m)

D = Printing (zgzm)

I = Royalty (Tras31)

F = Miscelluncous (Fafau)

(Expenditare chart)

(ad =r2)

How much percent more is spent on advertisement
than that on binding?

arf=ET 1 agen fasmm vt Peaen widse warn ad

fam &7
(A) 10 m(zﬁ
(C) 9 (D) 2.8
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127 Which one of the following agency undertook the

€xcavation work of Kalibangan?
(A) Melbourne University of Australia

voice to the passive voice.
We expect good news.
(A) Good news was expected.

131 Change the following sentence from the active

(B) The Rajasthan Department of Archaeology
and Museums, Jaipur

(C) The Archaeological Survey of India, New
Delhi

(D) Deccan College, Pune

Frefefaa & & Rew vw oo 3 e % saaee

(BY” Good news is expected.
(C) Good news should be expected.
{D) Good news must be expected.

132 Complete the following figure series :

F & TETEEE g 7
(A) Horar fasafammea, aitgfrm

(C) wndra Qi wdem, =8 Bwh

(D) T raicra, g

. 128 Which allotrope of carbon is in the form of the

geodesic dame?

(A) Carbon Nanotube (B) Graphite
() Fullerene

(C) Diamond

HEA & FBAET SR e qaw dw wey

TEm e’

(A) Fd e
(© #

129 Which program helps the user to view different
web sites on the internet?

(A} Search engine

(B) wrse
(D) o=

(B) System program

2]

SINA

o ]
o[

Assembly of India in 19467
(A) Mohanlal Sukhadia
(B) Vijay Singh Pathik
(C) Jivraj Narayvan Mehta
(D) Heeralal Shastri

/Y H TR0 & WA & =9 A0 69 T i
(A) W Jenfsar

(B) famarae wibts

(C) fratms e qes

BT e gweR

133 Who among the following was nominated as a
representative of Rajasthan in the Constituent

frefofaa & & &ha I‘!J(qmzﬁ'fﬂﬁmﬂﬁfqi'ﬁ

(C) Server program
(D) Browser program

AT WU gt & 3T W fate gwn @ 9
HIEZE 2ET W Wag A & 7

(A) &4 I

(B) fieew W

(C) wdT W™

(D) et wraT

130 A sum of money doubles itself with simple interest

rate in 12 years. In how many years would it treble

itself?
(A) 36 years (B) 18 years
(C) 24 years (D) 30 years

uﬁ%mﬁl"ﬂfﬁmmzﬁfﬂgw

LGS ﬁﬂmrﬁﬂ%aﬁqh@

(A) 36 =d (B) 18 ¢
(C) 24 ad (D) 30 El":f
il ™| pil ] #'1-]

W0 3{"‘"

¢
|wm]%% %ﬁ
&?«4

14

b

134 If log, (x+1)=2, then the value of x is ;

qfe log, (x+1)=2, 78 x & W B -

(A) 4 (B) 0
(€) 2 (2 3
135 ‘@iu-gofl’ y&—gm & o@ ad & 9 fifae -
) g - ™ (B) wdm - nfx
(C) 34 - T&Q (D) 9z — §m

136 Through which of the following districts of

Rajasthan, the tropic of cancer passes?
(A) Jhalawar (B) Jalore

(C) Sirohi (D) Banswara .
Frerifed 3§ oA & -3 B A vt e T
NEIGR

(A) semaTs (B) =T

(C) faerdt (D) FrwarsT
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@ The centre of activities of Govind Giri in 19]]
H-“Ll Iglz wWis
(A) Kheda
(C) Sunth

121

(Il,‘; Idar
(D) Bedasa

Wi e afafafrdt @ s 191] w 1912 ¥
S 1

(A) &= (B) d=1

(C) Hu (D) Fzw

16 11 ‘'CLOCK" is coded as

"8679°, then what will be
afy ‘CLOCK™ 71 ‘342
e fhar a@, o M

34235" and ‘TIME" as
the code for ‘MOLEK™?
357 3T CTIME” %Y “8679° 9

OLEK” & fav #rs qar w7
(A) 62495 ikt

L) 72495 (D) oo s LA

(D) 62945
@ ‘Penganga’ is a tributary of which of the following

rvers? )

Eg] Mahanadi {B) Krishna

Y Kaveri (D) Godavari
AT Frefafam wfdr @ e arTaE il k7

122

123

(A) TEs (1)
(C) =wrady (D) e

L8 Fill in the blank with one of the correct oplions
from the options given below.
It's time they working on the projeet.
(A¥would start (B) started
(C) start (D) will

In normal conditions the number of WBC in
comparison to RBC in blood is

(A) changes now and then

(B) equal

(C) more

124

(D) less b
HETId: T W 99 BT i & “"1?“- I BT
BTN B g

(A) Ta-da a3wdl e &l ~

(B) =7 T 2 *

(C) =gran &t &

(D) @ i & g

120 Objective of ‘Mukhyamantri Laghu Udhyog

Protsahan Yojana™ is © -

(A) Reducing economic inequalities

(13) Establishment of enterprises -

(C) Providing new cmplnymc_nt opportunities

(D) Both Establishment of enterprises and
Providing new enmploy ment opportunities

W A Eqmmﬂﬁml'ﬂﬂﬂt-ﬁr%:

(A) i sraradrsl & &y men

(B) TowHA] ) 19w 1

(Cy =4 T FaHT I9eE HTE
IuHE] & T HTA 0E T4 VA AT
TUFE FHEEAT S

ivvp] gk

13

tionnry satellite revolves approximately
i L A

A geost andl in which plane?

at what height .
(A) 36,000 m, polar plane \
(B) 36,000 m. uqnuhu'uﬂ plane
(C) 36,000 km, equatorial plane

36,000 km, polar |1I:||11:‘ |
tﬂ;l _farg wmre wm fEw Sard ot 9 frw e d

I e b7

(A} 36,000 W, yda a@
(Y 36,000 f, ey w
(V36,000 Prd, TEertd @

(DY 36,000 FFn, gty

—
The Heading in a letter consists of
(%)) The subscription W
(37 Salwation
£8), The writer's address and the date
i”}_j The reference

“Me Adapiation Gap Report 20227 is published
by~

(A BRICS

(B3) World Bank

(G) United Nations Environment Program

() World Economic Forum

e T i 20220 @yt ¥ -

(%) Pren
+B) fasa &%
(C) wg# T qErar wrdw
(L_q faya anfife = -

4

Choose the correct direct speech of the following
seience from the options given below ¢

He ordered them 1o lock the door.

(@Y He said to them, “Lock the door.™

(@ e said to them, “Please lock the door.”
(,l_;;1 He told them, *You locked the door.”

{tlj_ He tells them. “Lock the door.™

Geiles which code for
z}yg ]kll\!x\ll as -

(A) Monohybrid

&) F| gencration
fGTha wemii

a pair of contrasting traits

(B) alleles
(D} Genotype

Hﬁiili. _Jj'h— ! 1E 3
AT ) e ==
(A)' 73 Ty (B) i
(CH T, ard) (11 siF sy
-
@(P::"EI{I" Square is used in the study of
{;;):' HIP”CFI-CS ‘ (B) Cell Biology
=l 10-Exvalution (DD} Photosvnthesis
g:z i ﬁ_mﬁ&ﬁmﬂmm%?
REZL (D) wamgr-w3eam
* [ Contd...



137 Fill in the correct article.

He is not honourable man,

(A) no article (
(C} the

an
(D) a

138 1f sin u-—:%, then cosa is -

. ]
afs Sln{L:E. 9 Ccos o H OHE F—

| "

V7 |
Y i
. A

(C) 7 - (D} e

139 In which vear Chandrayaan - T was launched by
India?
fem ad o wma A s=uE - | el m?
(A) 2010 By 2007
(C) 2008 (13 2009

140 How many times President Rule was implemented |
in Rajasthan?
o H- ot A wzafa s fe o ¢
(A) 5 {B) 2
C) 3 (D) 4

141 The sum of first 50 natural numbers is —
guw S0 WA TR @ oA E -

(A) 1325 (By 1000
(Cy 1200 W(D)-275

4
The famous Pushkar Fairis held in which manth
of the HindurCalendar?
(A) Chaitra (B) Sawan
(C) Falgun (D) Kartik
T @ uit gt e feg v & fam me i

@

*

A 7 |
(A) T2 (B) wra
(C) I (D) @ l

143 ‘geaary’ y= A qOE &
(A) =i (B) FdunE

}Vﬁﬁm (D) &=
IVVP ] 9P

@

@

146

148

149

150

1 in Rajasthan was

. panchayati Raj systen jastha
i ' following lve year

inaugurated under which of the

plans?

(A) Fourth Firs
() Second (D) Third

e B daTad) T AT 5 gy THE quauig
dirrn & oita fean Tan M1

(A) ugd (B) a9

(C) fadm (D) g

supported by ASCII-7

(B) First

Jow many characters are
coding system? ~TET o
-7 (ASCII-7) @i fm?ﬁ;w FH14IH
ac i i

{A) 256
(C) 128

(B) 356
(D) SKEIFTH

Presently. the number of Municipal Corporation
in Rajasthan are :

g T & e P @ e e @
(A) 10 (B) 6

€77 (Dy 9

An eye defect *Astigmatism® occurs when :

(A} the cornea is not spherical in shape.

(B) the image of an object is focussed at a point
hehind retina.

the image of an ohject is focussed at n point
before retina.

(13) the eye lens hecomes cloudy.

gitzZm gfedra @@ T A d AT

(A) & #1 5TFE e TE

(B) T 3w o g gitegza 3 dnd fad fag we
EEEA FET

el g = wieiama gfewe & omd fad fasg
7 RET B &

A4 @8 guer 7 ara Ry

{C)

()
(D)

W wE % e T Al | oEi
i AT =g Fe o § HEEidE

AT wir g A aid

(BY zm sy #iifem are

(C) a1 gt iy &1 mmy

(D) &7 2w Aa = g den ‘o

Total number of Gram Panchayats in KRajasthan is:

T B 0 dAraal H e e b

(A) 13.443 (B3y 10,890

(C) 12,560 +B7 11,283

'aﬁﬁﬁ'@m' ST W wyEy o B
(A T wfy (B) T #Hiy
(C) qfz @iy (D) 4nd wify

I
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